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faca #aTeTT
AT T&IT 40
dereT
&. aEferdl 3R WAl @ T & 96 Foie Hed 3H YK &
(F1F &77)
arEdafas 2012-2013 soic 2013-2014 weifra 2013-2014 Foic 2014-2015
ey MY | IS S B3| ST 3 TAST-TAeeT Sg| AT 3TASTeT- e | ST ITSAT- [T IS
o 19596.75 19596.75 20049.00 20049.00 21815.00 21815.00 23778.00 23778.00
gt
Bl 19596.75 19596.75 20049.00 20049.00 21815.00 21815.00 23778.00 23778.00
ot T 3w Far-FgfRy A
1. TT TUT 57T qFT-1AF1T T
1.01  sfffar siv far-fgfr o= 2071 10380.55 10380.55 11378.00 11378.00 12065.00 12065.00 1253155 12531.55
1.02  or 1 wwrefipa ger 2071 1590.54  1590.54 1788.20  1788.20 1788.20  1788.20 2000.00  2000.00
1.03 3TIHA 2071 2401.03  2401.03 234515  2345.15 234515 234515 2600.00  2600.00
1.04 T doe 2071 258257  2582.57 2560.50  2560.50 3339.50  3339.50 3800.00  3800.00
1.05 el THHLT 2071 1308.57  1308.57 1480.00  1480.00 1480.00  1480.00 1650.00  1650.00
1.06 e ffet % forg st 2071 9.36 9.36 22.00 22.00 22.00 22.00 22.00 22.00
1.07 o FedT fEfEe g 2071 1279.92  1279.92 1416.65 1416.65 1716.65 1716.65 2115.00  2115.00
1.08 a7 2071 1.93 1.93 2.50 2.50 2.50 2.50 3.00 3.00
1.09  FETEU-TTHT TSt o 0071 -1000.00  -1000.00 -1000.00  -1000.00 -1000.00  -1000.00
TeefY T & e T
7 19554.47  19554.47| 19993.00  19993.00 21759.00 21759.00 23721.55 23721.55
2 ATHIISF & ST F47T
2.01 STHT Hag THT ATSTAT 2235 41.54 41.54 53.00 53.00 53.00 53.00 54.54 54.54
2.02 FET ATHET FEART AT 2235 0.72 0.72 1.50 1.50 1.50 1.50 1.50 1.50
RIEEN
203 ¥ 2235 0.02 0.02 1.50 1.50 1.50 1.50 0.41 0.41
T FTHI GTaT ST FTT 42.28 42.28 56.00 56.00 56.00 56.00 56.45 56.45
FATAIE 19596.75 19596.75) 20049.00 20049.00) 2181500 21815.00, 23778.00 23778.00
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